
6114 6114.5 6115 6115.5 6116
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

6383

6383.5

6384

6384.5

6385

6385.5

6386

6386.5

6387

ru
n

run:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6385}



6114 6114.5 6115 6115.5 6116
cyclenum

107−

106.5−

106−

105.5−

105−

us
l_

1X

usl_1X:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

1−

0.5−

0

0.5

1

us
l_

4a
Y

usl_4aY:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

50.5

51

51.5

52

52.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

20

20.2

20.4

20.6

20.8

21

21.2

21.4

21.6

21.8

22

22.2

us
l_

4e
Y

usl_4eY:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

40−

39.5−

39−

38.5−

38−

us
l_

12
X

usl_12X:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

6383

6383.5

6384

6384.5

6385

6385.5

6386

6386.5

6387

ru
n

run:cyclenum {run == 6385}



6114 6114.5 6115 6115.5 6116
cyclenum

155−

154.5−

154−

153.5−

153−

us
r_

1X

usr_1X:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

1.5

2

2.5

3

3.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

221

221.5

222

222.5

223

us
r_

4e
X

usr_4eX:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

13.5

14

14.5

15

15.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

42.5−

42−

41.5−

41−

40.5−u
sr

_1
2X

usr_12X:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

6383

6383.5

6384

6384.5

6385

6385.5

6386

6386.5

6387

ru
n

run:cyclenum {run == 6385}



6114 6114.5 6115 6115.5 6116
cyclenum

31509.6

31509.8

31510

31510.2

31510.4

31510.6

31510.8

31511

31511.2

31511.4

31511.6

31511.8

us
l_

co
il1

usl_coil1:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

6181

6181.2

6181.4

6181.6

6181.8

6182

6182.2

6182.4

6182.6

6182.8

6183

6183.2

us
l_

co
il3

usl_coil3:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

4292.2

4292.4

4292.6

4292.8

4293

4293.2

4293.4

4293.6

4293.8

4294

4294.2

4294.4

us
l_

co
il4

usl_coil4:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

1216.5−

1216−

1215.5−

1215−

1214.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

14944

14944.5

14945

14945.5

14946

us
l_

co
il7

usl_coil7:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

6383

6383.5

6384

6384.5

6385

6385.5

6386

6386.5

6387

ru
n

run:cyclenum {run == 6385}



6114 6114.5 6115 6115.5 6116
cyclenum

27497.8−

27497.6−

27497.4−

27497.2−

27497−

27496.8−

27496.6−

27496.4−

27496.2−

27496−

27495.8−

27495.6−

us
r_

co
il1

usr_coil1:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

5327.8−

5327.6−

5327.4−

5327.2−

5327−

5326.8−

5326.6−

5326.4−

5326.2−

5326−

5325.8−

5325.6−

us
r_

co
il3

usr_coil3:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

4176

4176.5

4177

4177.5

4178

us
r_

co
il4

usr_coil4:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

629.5−

629−

628.5−

628−

627.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

18350

18350.5

18351

18351.5

18352

us
r_

co
il7

usr_coil7:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

6383

6383.5

6384

6384.5

6385

6385.5

6386

6386.5

6387

ru
n

run:cyclenum {run == 6385}



6114 6114.5 6115 6115.5 6116
cyclenum

441−

440.5−

440−

439.5−

439−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

71−

70.5−

70−

69.5−

69−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

20.5

21

21.5

22

22.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

475−

474.5−

474−

473.5−

473−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

89.5−

89−

88.5−

88−

87.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

19

19.5

20

20.5

21

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6385}



6114 6114.5 6115 6115.5 6116
cyclenum

172.5

173

173.5

174

174.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

35.6

35.8

36

36.2

36.4

36.6

36.8

37

37.2

37.4

37.6

37.8

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

10.5−

10−

9.5−

9−

8.5−4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

182.5

183

183.5

184

184.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

27−

26.5−

26−

25.5−

25−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

8.5−

8−

7.5−

7−

6.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6385}



6114 6114.5 6115 6115.5 6116
cyclenum

237.5−

237−

236.5−

236−

235.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

83.5−

83−

82.5−

82−

81.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

5−

4.5−

4−

3.5−

3−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2

6.4

6.6

6.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

420.8−

420.6−

420.4−

420.2−

420−

419.8−

419.6−

419.4−

419.2−

419−

418.8−

418.6−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6385}

6114 6114.5 6115 6115.5 6116
cyclenum

6383

6383.5

6384

6384.5

6385

6385.5

6386

6386.5

6387

ru
n

run:cyclenum {run == 6385}
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